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//send
class Send implements Runnable{
private DatagramSocket ds;

public Send(DatagramSocket ds){
super();
this.ds = ds;

}
public void run() {

// TODO Auto-generated method stub

BufferedReader bufr = new BufferedReader(new InputStreamReader(System.in));

String line = null;
try{

while((line = bufr.readLine())!=null){

[/ EEE R IEURE A
byte[] buf = line.getBytes();

DatagramPacket dp =new DatagramPacket(buf buf.length, InetAddress.getByName("

27.0.0.1"),10002);
ds.send(dp);
if("over".equals(line)){
break;
}
}

ds.close();
}catch(IOException e){
e.printStackTrace();

}

// receive

class Receive implements Runnable{
private DatagramSocket ds;

public Receive(DatagramSocket ds){
super();
this.ds = ds;

}
public void run() {
while(true){

BZEE: Java Eiit 3 S48 socket &5 --

- PIR=


https://ld246.com/article/1507648451454

// TODO Auto-generated method stub
byte[] buf = new byte[1024];

DatagramPacket dp = new DatagramPacket(buf, buf.length);

try {
ds.receive(dp);

} catch (IOException e) {
// TODO Auto-generated catch block
e.printStackTrace();

}
String ip = dp.getAddress().getHostAddress();

String data = new String(dp.getData(),0,dp.getLength());
if("over".equals(data)){
System.out.printin(ip+".. BFFEIR=E!");

}

System.out.printIn(ip+":"+data);
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public class ChatTest {
public static void main(String [] args) throws SocketException{

&

}
}

DatagramSocket send =new DatagramSocket(8888);
DatagramSocket receive = new DatagramSocket(10002);

new Thread(new Send(send)).start();
new Thread(new Receive(receive)).start();

BZEE: Java Eiit 3 S48 socket &5 --

//EEERIRROS Ssendhay

- BER=


https://ld246.com/article/1507648451454

